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IS ued (1-8)

Objective Type Question (1-8)
gt o # 9 Ri=ms @1 sy fafer 5—
(31) Spell (@) v&e

() fgu o=

The modern method of irrigation is-

(@) R (TR gorret )

(a)Dhekli (b) Rahat

(c)Drip system (d) Moat(pulley-system)

ge:2 faRIY &5 H URl S Tl Us—Ule heelld -

(31) wrofreTa (@) gyt

GIRENEREl (8) Spera= 5=

The plants found in a particular area are termed as-

(a) Fauna (b) Flora

(c) Endemic species (d) Endangered animals

T3 FFTST Pl HUSRUI HRd FAHI DIcl I GReT & ford 79 H | fhddp SudnT

o ST =7
(31) M @1 g@ ufert (@) g
(@) ? R g (T) SRIP # & DI T8I

[ ]



Which of the following is used for protection from insects during the storage of food grains?

(a) Dried neem leaves (b) Silos
(c) Both 'a' and 'b' (d) None of the above [ ]
34 BRI H BT MM Tl Faifdd Sza sroft &7 $e9 di9 A1 27 (1)
(81) eTpeT (@) Praen
(@) BRI () gerdrs. ()
Which is the high-category fuel mostly used for homes?
(a) Wood (b) Coal
(c) Kerosene (d) LPG [ ]
Te:5 I H qddm] FSdl B A H PIeR & I W) B9 Ugiferid SdTe BT ahnT
fapar e 272 (1)
(o) faga (a) oTfet A
() Stofet (2) wEd ()
Which petroleum product is used these days for surfacing of roads, instead of coal-tar?
(a) Bitumen (b) Paraffin wax
(c) Diesel (d) Lubricating Oil [ ]
g6 fHdl YU &1 2ARE & IRATNT B B F T W I fhar Smar g7 (1)
(1) ¥ ol (@) Reaez T
() TSR (<) argaraHTdY ()
On which scale is the power of an earthquake expressed in terms of magnitude?
(a) Seismograph (b) Richter Scale
(c) Water heater (d) Barometer [ ]
Uo7 FAdS qUYT gRT & ot 9 &1 wfafaw dar fwrg <ar &7 (1)
(31) St (@) rem
(W) 9% & BIeT () a¥qg & asT (



How does an image look formed by a plane mirror ?

(a) Upside down (b) Erect

(c) Smaller than the object (d) Bigger than the object [ ]
U8 =3 B 98 DIl 9N §, S = Bl fAR¥re 37 Ue™ Har g7 (1)

(&7) geren (@) afarRe

(%) ifefar () Xfesm ()

Which part of the eye gives it a distinctive colour?

(a) Pupil (b) Iris

(c) Cornea (d) Retina [ 1]

SfCreTeRIcAS U (9—12)
Very Short Answer type Question (9-12)

ge: 9 fawTy), Jewoidl | fhE UeR = 81 8 ? FHssy | )
How are viruses different from microorganisms? Explain.

3N/ Ans

Te: 10 S8 & d&d SUART A YR R T BISHRE YT TSl 57 2)

What harmful effects are caused on environment while increasing the fuel consumption?
<IN / Ans




g 11 RGN RY & 9 & for {5 ddb-ie &1 ganT fhar Siram &7 (2)
Which technique is used for the birth of test-tube baby ?
3N/ Ans

ge: 12 fafhear & & | 3 A9l & AJHu™ v e[ & folY 5y ybR &1 &y &
SURRON BT GART fHar SIar &7 (2)

Which type of sound equipment is used for investigating and tracking medical

problems ?
3N/ Ans
TERIRIHD U (13—22)
Short Answer type Question (13-22)

U 13 W™ 7 BT W T A pifTe— 4x1 =4

W W g

(a7) B 1 IRRE

(@) gfcoifde 2 SiaTY]

(@) Pab 3 TR

() Tiferar 478 B [

5 fHUST @1 Ui



Match Column 1 with Column 2

Column 1 Column 2
(a) Cholera (1) Virus
(b) Antibiotics (2) Bacteria
(c) Fungi (3) Streptomycin
(d) Polio (4) Rust of wheat

(5)Yellow vein mosaic of lady finger (Okra)

o 14 g T8 9 I T8 H R foIRa¥ | (4)
Differentiate between rapid combustion and spontaneous combustion.
3N/ Ans

g% 15 Bitced H ¥ T weal § A S wea BT = PR Rewd UMl B Gl BISTT—4x1 =4

( IRAT, TWRUTIR, IR, BH, TS )

(@1) 2T BT Sele UoesT UG Grell Bx BT FfBAT oo FHEA T |

(@) Sraifdd Td AT SY Uieh BT ESTAT ST B, TR FEA B |
(@) TR dIST ST BT HAT TR oo AT |

(@) ST BT A STAT DA oo FHEAT T |

Fill in the blank by choosing correct words from the given bracket-
[ Threshing, weeds, float, crop, ploughing ]

1- The process of loosening and turning of the soil is called ............cccceeeveeivcinieennnnn.

2- Unwanted and uncultivated plants are removed,which are called ..........ccccceeeiiiirnnnniis .
3
4- Separation of the grains from the chaffis called .........cccccooveeiiieiie .

Damaged seeds Would ...........cceeeevviieeeeieciiiee e, on the top of water



g 16 fforRad Ue=l & SR Ud s H§ SIfoTu—

Give the answers of the following questions in one word-

(@) JreR™ H ARIRS aRae fhaa g RGP 8ld €2

4x1=4

(a) By whom are the physical changes in the body controlled at the onset of puberty?

(@) a91g HaeE B d 6 g @ gRT fhar ST 8?
(b) Which hormone helps the body to adjust to stress?

(1) TS & MTHRG IRRA Bl GRT A4 foIRay |
(c) Write the full name of the virus that causes AIDS .

(&) TIex 3T fow ufYr | g 82
(d) Goitre disease is related to which gland?

g 17 fa=faRaa el & A= 1 [T] 8/ [F] faRaw —
Mark true (T) or false(F) for the following statements.

() &g qAT I FEAHAl Bl AR UR &6 T S B |

(a) Liquids and gases do not exert pressure on the sides of the container.

(@) g BT ulRHTor qon fegm 9 8 2|

(b) Force has both magnitude and direction.

(TT) U SR I TR I BT NPT PRl © |

(c) One charged object attracts an uncharged object.

(&) ge1 fdl g o7 faRm™ oraRenm | iy # 7 o Havar 2|

(d) Force can not make an object move from rest.

g 18 JHIIe 9 T A9y 57 9@ G BRYN fofey |

What do you mean by deforestation? Mention its two causes.
<IN/ Ans

4x1=4

— p— p— p— p— p— p— p—
— e e e b b e e

2+2 =4

(i)




(ii)

g2 19 B4 BART A5 9 2 SFI 87 §9 B Bl ISRV gRT Agelvor Hifey | 2+2=4
Friction is both a friend and a foe. Analyse the statement with example.
3N/ Ans

U%: 20. U Qleldh 5 HHUS H 50 R Sleld Bl & | SH@! AGRT G207 3Madiatel Si1d Hifoy |
2+2 =4

A pendulum oscillates 50 times in 5 seconds. Find its frequency and time period.
3N/ Ans

T 21 YHH I & FI—FT BRI 8?2 YHH A W & ga1d & ol 3T FT PR Fhdl 57
242 =4
What are the causes of an earthquake? What precautions would you take to protect
yourself from the earthquake?
3R / Ans




TI: 22 3T PIUT Li 9T IR DI Lr &7 A T fory # qoizgy | Ife Li=40° 87 AT WRTaa
@ FROAGAR Lr T A 91 8T ? 2+2 =4

Show angle of incidence Li and angle of reflection Lr in the given diagram .If Li=40°, then what
will be the value of Lr according to the law of reflection?

3R / Ans(a)

TP U3 (23—25)
Essay type Question (23-25)
ge: 23(31/a) USIeaH A UTdhfied I & 4USR &I AFifdhd F a1y | 4+2+2 =8
Draw a labelled diagram of Petroleum amd Natural Gas deposits.
(@/b)(i) “fawrT & M IR gell B Helg gl off T 7| B B gfte BIRTT |

"Cutting of trees in the name development is increasing".Justify the statement.

(i) Y= VU (Honlnar 8° AMd IRR # s Rafa goii= aren amifed o
gV |
What is Adam's apple? Draw a labelled diagram showing its position in the
human body.

3rerar / OR

(@1/a)TTe! T |HT ST 3R Ioid 9 & IR U folfdy | 4+2+2 =8

Write any four ways to save petrol and diesel while driving.

@/b) (i) T <9 JTarEl | SR 8 I8! AFAI TAAR™T & SR 99 Sig dR—¢R $HH
B O X2 © | 70 WM& PR & oY 319 a1 i <d?
Wild animals have been reducing gradually due to continous human activities in
their natural habitats. What suggestions will you give to conserve them?



(ii) 19 IR # Ufgea U o Rafq &1 g aren Amifea form a8y |
Draw a labelled diagram showing position of Adrenal gland in human body.
F R =) I



ge: 24 (31/a) YT &1 THIRE H Y01 BT AMifhd R & FEraar ¥ T9sgy | 4+2+2 =8
Explain with the help of a labelled diagram of embedding of embryo in the uterus.
@/b) (i) =91 B HH A B T IaTERYT fARAT |
Write two example of reducing friction.
(i) fev v R & 27 v R orrad R 2 | aafaa fhvor gdor (A) TR 45°
PV TR Afad BT 8, U0 B wRrafid g9 drell wRmafda fawor vd
URTEC HIOT I18Y |
Two mirrors are kept at right angles . A ray of light is incident on mirror A at

an angle of 45°. as shown in diagram .Draw the reflected ray and angle of
reflection from the mirror 'B'
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3H2reT / OR
(31/a) Higd & Sia= =% Bl AMIhd & §RT FHsIST | 4+2+2 =8

Explain the life cycle of a frog with the help of a labelled diagram.
@/b) (i) 7= D <@ T UBR TR ADhd ©? TSR
How can we take care of our eyes ?Explain
(i) =1 e yeR SART AT §? SSER0T §RT ISy |
Explain with example how friction is our friend.



ge: 25 (31/a) fa=fa oo faf¥r &1 Aferm avia Sy | 6+2 =8

Explain the process of electroplating with the help of a diagram.

CUYIESIEICIE I R A B R DIV TG g P ATAD folRay |
Complete the formula and write the unit of Force
Force = Pressure X .........cc.......

31eraT / OR

(a1/a) 3ATe] BT ATSADHAT & UKIEOT DI FF §RT FAASTSY | 6+2 =8
Describe the potato conductivity test with the help of a labelled diagram.

(@/b) g IR T A BT FA=RAT H URTAT PR FHT © | AT P I&8R0T §RT
THLV |
"A force can change the state of motion."Explain with the help of an example.
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ORI Rrem gofar ymamor o= wdiem 2025
fovg — fasme
FeT — 8
w A T M pid hiikil kil arguar kil i g /v A
OT |VSA| SA | ET | OT |VSA| SA ET | OT |VSA| SA | ET | OT | VSA | SA ET | OT |VSA| SA | ET | OT [VSA| SA ET
1 |BES IUTET TG Y& 6 |1(1) 1(4) 1(1) 3(6)
2 [geoig : A g oy 6 1(4) 1(2) 2(6)
3 [®rFa R U™ 6 1(1) 1(1) 1(4) | 3(6)
4 T8 3R SarerT 6 1(4) 1(2) 2(6)
5 | Td Sigal T AReTor 7 | 1) 1(4) (2) | 27)
6 [Sigell # S 6 1(2) 1(4) | 2(6)
7 |fPaRTaRem @1 AR 6 1(4) <2) | 1(6)
8 |doT AT T 6 1(4) -(2) | 1(6)
9 6 1(4) -(2) | 1(e)
10 6 1(2) 1(4) 2(6)
1 | oRr @ YNEfe ya | 6 1(6) | 1(6)
12 |{B THide gRecy 5 | 1(2) 1(4) 2(5)
13 8 |1(1) 1(1) 1(4) -(2) | 3(8)
‘q’[’l‘r 80 | 4(4) 1(4) 4(16) 3(3) | 2(4) 1(1)| 2(4) | 2(8) 3(12) 3(24)| 25(80)
5(8) 4(16) 5(7) 5(13) 3(12) 3(24)

Aie— BISF F IN PR U4 HISH & 918 YT W1 Y qeiar I &




